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L. (i) Write down the general term of the expansion (x3 - xiz) Hence find the coefficient

of the term including x* and i .

(i) Given that (1 + x)} "= C, + Cyx + Cox2 +-Cpx"
show that €, 2+ C; *+ .. +Cp 2= (n)t

ninl

(iii) If a, b, and c are any real numbers prove that a + b2+ c2 > ab+bc+ca.

—i1t
(i) Let Z= %%;—; Show that Z can be express the form 3 (q + ipywhere 3 o beR.

Hence show that Z? is a pure imaginary number.

(ii) Express the complex number Z; = ‘/—15(1 +1i) and Z; = i in the polar form. Hence

plot the Z; + Z; on the argand diagram. Hence prove that tan(%) =+2-1

Let,
DUy =ax+byy+e; =0

(i) U = azx + b,y + ¢, = 0 Express the what is mean by U; + Au, = 0 where A isa
parameter. Find the equation of the straight line passing through the point of intersection
of two lines 2x —y+5=0,x+3y—1=0 and perpendicular to the straight line
4x+3y—-5=0

(iii) Let, S1=x%+y*+2g,x+2fiy+C; = 0 and

S;=x%+vy2+2g,x+2f,y+C; =0 are two circles. Write down a
condition for two circles S;and S, cut orthogonally. Find the equation of a circle which
passing through origin and cut orthogonally two circles x%2 +y? —4x+6y—1=
Qandx* +y? +6x—4y+2=0
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(i) Ganemeu (x3 - —1-) B ouTgl e pleol sTpgE. BHnhha x* whoib imﬁmm

x2

SI_BEL 2 QU GassHms SNams.

@n)!
ninl

() (1 +x) = C, + Cyx + C;x% + Cpx™ srans syimngsit Cp 24 €y 2+ i +Cy 2=
6160 &M (D&, _
(iif) steliLen e1@o@b Quoil eTeisst evelar, a’ + b?* + c? = ab + be + ca stan Hyes.

. _ {a-d*
i) 2= (1+)z

@5® 1,a,bER.
BFOmbg Z° eTaE! @ G SPUDET ST 6Tand ST (5.

ediE. Z 8 A (a+ ib) STegib apald alufiss Weyh e &1 Ge.

(ii) f&s6ed eTalt Z; = -j—i»(l + i) wppIb Z, = I eTdiusUDEnD (Pamean sulpaudHEed alufdas.

Db Z1 + Z 8 s afiu s @Pss. BHSnbe tan() = V2 -1
aTeul [Bmie&.

OUy=aqx+by+ec, =0
Uy=apx+byy+ec; =0 aatis. Uyp+ Aupy =0 eraugadr alaisssoms  alufibs.
Bng g eT@ug @ unorauongh. 2x—y+5=0,x+3y—1=0 eregbd

CryGanHasn @ Qsu” G ysafulai e Gaedausugd 4x + 3y — 5 = 0 sraiggid
GrTGaET.. (Héy GatgSHIotan ChIGaT gl FOMUTI_ L& SIS

(i) §; =x2+y%+2g,x+ 2f;y + C; = 01ppib
S, =x? +y2 +2g,x+ 2y + C, =0 ereiienr @@ e LFEsT 6T, Sy LoDmiD
S, staiuar BOTGETaSSHE0 Qsul_(HeusDETan [HlbSHanaremyl 6TLpHIE.

X +y?—4x+6y—1=0 wppb x* +y* +6x—4y+2=0 ‘
gD @ el bimenst  HOTCETEmGED Gl Haigid o pubSuigl s
Q& EDEIELRIOTET 6u L SHHET FOGUTL L& ENeis.




